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14[27] 247® % #& 3£ 6 (FREAC-HH) 3md3 +0.7
15[23] 214 b = M 3 (FREAC-H#H) 3m48 +0.3
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16037]  TRAMEBEG (EAF)-2£F) 3md6 +0.
17031] 19K K .0 36 (FREAC-H#H) 3m39 +0.
18[17] 210 &F H [ 4 OMERAC-LE) 3m30 -O0.
19[18] 85148 M f5 K 43 3 (F—28 113 3m23 -O0.
20[25] 25%% FE A 7 3 (FREAC-#H) 3m23 +0.
21[21] 34%5 J& ME H 4 (EAR)-1-E%) 3m16 +0.
22[29] 355 Il B A4 4 (FREAC-#H) 3m10 +0.
23[ 6] 2584t i A E 3 (E7VIAACAE) 3m06 -O.
24(16] 853t [l f& 33 (F—2Ml-A) 3mO1 0.
25[19] 26311 A Bk &% 4 @E7VIAACA) 2m97 +0.
26[34] 297 M0 %n fE5 (HHEOEAC-E) 2m96 +O0.
27[20] 10k #k 3¢ #& 5 (KEEL)77-03) 2m91 -0.
28[ 4] 3HFAAZFE 3 RKEEL 7708 2m91 +0.
29(28] 3374=HNTA U 6 (KMCEL)77-%7) 2m88 +0.
30[ 3] 8527 A #E3 (F-2iil-iE) 2m87 +0.
310 9] M RAAREER 3 EAR)-4-£%) 2m82 +0.4
32[ 5] 278K A» B BB 3 (E7ATAACIED) 2m72 +0.
33[ 1] 54 MW %5 # 3 (KMCEL/77-#7) 2m70 +0.
34[14] 8354@ JI| A& Z 3 GiEar7-1708) 2m65 —O0.
35[ 8] 2534t & #i & 3 (E7VI/AACUE) 2mb6 +0.
36[ 7] 30JiI B B53 (BHOEACIE) 2m35 +0.
370121 324 R BEE T3 (HEORAC-IA) 2m31 +O0.
38[ 2] 12/ B 2 A3 (EAF)-2-KH) 2m30 +0.4
9[11] 3NHF W & DﬂéS (EORAC 13D 2m16 +0. 4
[10] 15 = & = £ 4 (fEEL) 77 108) Ri5
[13] T58E JIl A 3% 4 (hAT#- LA Ri5
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